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In this week’s parsha, ©wTp-"INN, there are many mitzvos to talk about and 1
would like to discuss the 1©>X of DOWNY NN 19PN K. The gemara : 1) 9% brings the
machlokes whether one is 2»n for cutting the peyos of a yop. x»n 1 holds 2»n
because the 7 of 9pn Y2 applies to the 9pn whereas NN 92 NN I holds 709
because the 9>pn follows the 977 who is not a vy 92.

The o1 NN bring this gemara as a 7°X1 to the following famous NS5xw. The
PRV NN and X XPY 1 discuss the status of a Yop: Is his status that of the NN
speaking the nnsn to him also but there is a »on NwNY N35n which makes him MV
or is the 77N not talking to him, meaning that he is not even a N¥1 in a certain sense?
The 935 7y brings this gemara to show that he is not a X2yn 92. The nnY 7N brings
the gemara : 1) P97M0O as a NI the opposite way. In the sugya of nnNa yar, the
gemara discusses a Mvp that was N1nN2a 820 and says we kill the animal. The Mishna
said two reasons why in a regular case the animal is killed- either because of Nbpn (it
caused a sin) or because of )Yop (that people will point to it and tell the story). The
gemara comes out that the case was N and in fact she should have been 2»nn
NN but ©N NNNAN DY XY MDY ON NINI. NHY X brings this as a N*X that ©»vVP
are indeed MMNN but this is a case of PWNYN I V. PN RPY 1 disagrees and
learns the gemara differently and is p>n11 the w5, which we won’t get into. He holds
that for sure ©»VP are not 9NN and it’s not NPaY NWyN H551. To support this, he
brings a N7 from Y7 that one need not intervene and stop a yop from eating m>>2).
Ifit’s byya a XN, why aren’t we 20NN to stop him? Must be that he is not a X2»n 9a.
This is the basic n,¥»Nn in PITMO.

Back to our gemara in %), it seems to be saying clearly likea»~ X2>py 7- just
as the [YoP] 92 1s not 2N, so too the Ppn is 9VA. The 935 7y brings a NN from
Mo that seems to be a NN to this gemara 9>%. In discussing NNwWNN W1 o,
the gemara says that one is 7109 if he smeared it onto» 0’55 NNNa because they are
not included in ©TX. Then the gemara makes a derasha to learn that only if one is 2»n
in 70 can he have the MoN of 70» NY and therefore no N2y for one who isn’t
included in the myn. This is why » 995 nNnna are excluded. The 935 719y speaks
out that there is a big n”) between the two reasons when the case is Yopn Yy To-
according to the first yYv, for sure he is 07X and one would be 2»n. But according to
the derasha, the yop is not a X2yn 92 so one should be 79! However, the 935 Ty
rejects this understanding of Yop being 1va because, if it were true, the 8n»92a should
have mentioned the yop alongside ©*95) N1 as it is a bigger vy N than 05yt Then
he references the gemara from >33 to point out that it seems a yoP is a 821N 92 and



therefore ends with a Y9y 7>98. The 710 NN in NP MM asks this outright and asks
why yw 70 is different than N9 9Ppn on a OP?

[ would like to propose the following 75n1: The Steipler in my1aw has a whole
>0 about the question of Yop being a 21N 92 or not. There are brackets there where
he says that the whole discussion is only X72) 19X 255 but by X¥9n MO one can
say that it is more 91N and for sure the Yop is included and 9ntn. He doesn’t give
any Mpn, any XI110, nor any NYNI. We can explain the Steipler in two ways. One
way is that maybe a Yop is not 9N by an action that is 197ox. However, once the
Torah identified in object of MO, like Ma1VY M2 that have a real effect on a
person, then maybe the yop is included in the NN of staying away from. But maybe
we can understand it with the following: The gemara ©>37) says that one can only do
NDONM on a 1IN 727 but not MNONN 127, and the example of 1ONN 727 given is NY).
The 1 explains the difference as being able to make item x 970X just like the 927
7N was made MON by man. Whereas when Hashem made something else a 927
7oNN, | cannot compare item x to it by making it :9OX myself- they are not
comparable. The N2V learns differently and explains that 9y730 927 is an MON
nxan and therefore one can only compare it to another 90 7Y0>°X. However, 927
TONN 1s an X2 NON! The 9% »an asks on this that the gemara clearly said one
cannot be ©ann to N1, but according to the X2V it should work because it is an
nxan MoN? To answer, he learns the 872V as saying NY2) was made MON, an NMOIN
nyon, because it is bad for a Jew to eat. There is another X890 M©N, a korban, which
i1s 7ON because of the NwYTp in it. By terumah, there is a »M¥ of U1 NMWN, to
safeguard the nwyTp which means a 91 is bad for the ¥on. So, the X72vV>7 means that
making a Noonn can only be done on something comparable which is another item
that you put v 7p into and not on something that already had an inherent y» nvyTp
'n. We see from this that there are two different types of X¥9n 7190>X- one that is bad
for me and another which is bad for the ¥on. Tying this back in to the Steipler, maybe
he was saying that an 77O action does not apply to ©»Vp but an X¥9N NN, where
the nwyTp would be trampled, then the yop is indeed AN mn.

With this second vw9, I think we can answer the 75 7vy’s Nowp of why Y2
9pn doesn’t apply on a Yop but yawa 7o does. By napn, there is no 719N to the yop
so the 9>pn is not 2»n for doing it. On the other hand, the nnwNN W has NWYTp in it
so that makes the Yop equally 913, thereby causing yawa 70 to apply.

I want to add another piece. That same gemara in 9°%) adds that even according
to X)1 9, who holds the 9>pn would be 2»n, if a woman cut off the Yop’s peyos she
would not be 2»n. This is because she has no M¥» of 9>pn Ha and therefore does not
have a 7 of a 9pn. The Acharonim ask why shouldn’t it be 71vox for her to do
because of 099nN X5 Even though one doesn’t need to stop a yop from eating N5>2)
it is still 990N to give it to him. So too by 9>pn Y3, she should not be allowed to do it
to the yop! There’s not enough time to go through all of the n»x9 but we can say a
vort like this: The gemara 7P mn2’, in discussing whether 2»n 771 to stop the Yop
from eating NY>2) (the father must but that’s 2971), brings three pesukim to find a



NI to the affirmative. The three pesukim are of 0T NYON, YW NYON, and NNMIL
0”15, where the Torah 1s D9y by 0»VP PN, The gemara is NN each one as
being only 0> 12 Yann> MONK, therefore they are not necessarily a 7PN to be v91 as
well. The pashtus of the gemara is that it is not a situation of TNX3 PN2N DYDY )
P1I91 PN so we learn to N0 NINN U5 that one cannot be D72 Yonn but also need
not be ¥91. This is how the b”72n9 paskens. The 770 however, paskens in these three
cases that one must be 191 and the 90y 12 asks why when the gemara seemingly
says there is no need. So, the 90 n2 is >N the whole gemara and learns in the
70 that the gemara was saying to be ¥»191 by these three cases and are not a Ty
1215 NINN H5Y because it is a PTION PRI TNND PNIAN 0109 . The nTinda y1n asks
on the »72, where then is the nY5 NINN Y25 Mpn that one cannot be oY1 Yonn? He
says that must be the »72a learns it through a X7920. N7N5Y, it is the same NpoNN as
we had before- either My 0xya JOP, in which case you certainly cannot give it to
him but maybe nwyn Yny aw is OK, versus even the 0> Y580 being a pav because
the YoOp 1s not MINN.

The o> »9, in his NMTPN, brings a v1a> who learns the ©7any NV as
similar to the 70 that these three pesukim are talking about ©>12 Yox) and are ")
PTION PRI TAND PRAN ©P0a. If in the rest of the Torah the yop is not NN, why
should these three cases be any different in that one cannot be 0>12 Yan1? One could
say that these three have a 23n5n N1 to be 2»n for o> 7121 Yonn. Or maybe we can
say like this: If we look at the )¢9 in D5 NN, in *»NYW NWIY, it says that one is
903 on DNLVP- YINND YINNN PMNY”. Giving it to the Yop is a POn of one’s own
n>»dN. Maybe according to everyone one cannot give it to a Yo because of one’s own
N2y, regardless of the Yop being 90 or not. If this is true, we can say this VW in
the gemara 9%): A woman can cut off the peyos of a yop while a man cannot because
she does not have the 179N, the Yop himself is not N8n, and there would not be an
issue of 02NN KXY because we are saying that the 97y of ©5ONn XY 1s an extension
of one’s own MO>X which does not apply to her.



